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Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier
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(Total for Question 15 is 2 marks)

Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier
2.



21 The graph of the curve with equaton v = f{x) 1s shown on the grid belo,

¥ i

[ ]

(a)} Omn the grid above, sketch the praph of the curve with eguation ) = fi{—x)

(1, &) (4, 8)

curve O orve §

[ \ \ :
The curve C with eguation v =5 + 2y —x? is ransformed by a translation to give the
curve 5 such that the point (1, &) on C is mapped to the point (4, ) on 5.

{t) Find an aguation for 5.

(Total for Question 21 is 4 marks)

Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
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11 The diagram shovs a miangle P on a grid.

R Y

(- 5]

iy W

~7

Triangle P is rotted 180° about (0, 0) o give miangle Q).
5
Tri:angleQ:is.msJatedb}'[ 2] to give miangle R
(a) Dascribe fully the single mansformation that maps wiangle P onto miangle B

Under the ransformation that maps miangle P onm giangle R, the poine 4 is invariant.
(o) Write dowm the coprdinates of point 4.

(1

{Total for Question 11 is 4 marks)

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier
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Shape A can be transformed to shape B by a reflection in the x-axis followed by a
translation | ©
)

Find the value of ¢ and the value of 4.

g=

{Total for Question 5 is 3 marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier
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Diescribe fully the single transformation that maps triangle A onto triangle B,

{Total for Question 13 is 2 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
6.
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Triangle P is reflected in the line y = = x 1o give triangle ().
Triangle ) is reflected in the line x == | o give triangle R.

Describe fully the single transformation that maps triangle R to triangle P.

(Total for Question 8 is 3 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier
7.
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Shape T is reflected in the line x =—1 to give shape R.
Shape R 15 reflected in the line v =—2 o give shape 5.

Diescribe the single transformation that will map shape T to shape 5.

i Total for Question 7 is 2 marks)

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
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Enlarge shape A by scale factor é centre (0, 1)
3

(Total for Question 7 is 2 marks)

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
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18

Enlarge shape P by scale fantur—% with centre of enlargement (0, 0).
Label your image ).
(Total for Question 18 is 2 marks)

"

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier
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(a) Rotate trapeziom T 1B0® about the oeigin.
Label the new trapezium A
i1}

(b) Translate trapezium T by the mﬁ:f(_l]
Label the new trapezium B. -3

i1

{ Total for Question 5 ks 2 marks)

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
11.



%  The diagram shows triangle A dravwn on a grid_

-5

Eyle reflects miangle A in the r-axis io get triangle B.
He then reflects iriangle B in the lineg 1 = x to get wiangle C.

Amy reflects mangle A in the line ¥ = x to get riangle D.
5he is then going to reflect riangle I in the r-axis o get riangle E.

Amy says that triangle E should be in the same position as triangle C.

5 Amy correct?
Yo st show Bow you el Youur answer

{ Total for Question 9 is 3 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier
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4 -3 -2 -10 1 2 3 4x

-1 4
=]

_2 4

-3

—4

(Total for Question 1 is 2 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier
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Om the grid, enlarge the triangle by scale factor —I.é. centre (0, I}

(Total for Question 13 is I marks)

Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier
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{a) Enlarge chape A by scale factor —2, centre (0, )

Lahel vour imaze B.
2y
() Describe fully the single transformation thar will map shape B oot shape A
(1)
{Total for Question 20 is 3 marks)

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier
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{2) Beflect chapa P in the line x =-1

)

4



-1

-1

=5

=7

B

R B o)

-0

(b} Rotate shape P 90° anticlockwise about (D, 1).
(2)

(Total for Question 2 is 4 marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier
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Dwescribe fully the single wansformation thar maps miangls A onto mizngle B.

{Total for Question 12 is 3 marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

17.



-5

ta. Eﬂ'ﬂt& t!langll! A aﬂl“:lﬂ”*“‘liﬂ- 1'.']'H]
I'.!HﬂIE 'ﬂ
t:-}



(b} Describe fully the smgle ransformation that maps tmangls B onto tmangls C.

(Total for Queston 7 is 4 marks)

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

18.



4 A shaded shape 1z shown on the grid.

Om the grid, enlarge the shape by a scale factor of 2, centre 4.

(Total for Question 4 is 2 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
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{3) Om the zrid, reflect shape A in the line y = .

]

[EF]

{b} Describe fully the single mansformarion that maps mizngle B onmw miangle C.

(Total for Question 4 is 4 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier
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(a) On the grid, rotate shape A 180° about the point (1, 1).
(2



L

=2

(b) On the grid, enlarze triangle B by scals factor 3, centre (0, 0).

(2)

{Total for Question 9 i1z 4 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier
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Describe the single ransformation that maps riangle A onto wiangls B.

(Total for Queston 5 is 2 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
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{a) Translate shape A by the vector

()



(b} Deescribe fully the single transfoemation that maps shape O onto shape R.

(&)

i Total for Question & is 4 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
23.
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1
On the grid, enlarge the triangle by scale mw—i,mﬂwe{ﬂ,—z].

(Total for Question 23 is 2 marks)

Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier
24,
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(a) Translate shape P by the vector _i]

2)
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L 4

{Total for Question 7 is 5 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier
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Shape P iz reflected in the line x =—1 1o give shape ).
Shape ) is reflected in the line v = 0 o give shapes B
Diescribe fully the single ransformation that maps shape P onio shape B

{ Total for Question 18 is 3 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier
26.
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Enlarge the shaded shape by scale factor —% with centre (—1, -2).
{ Total for Queston 22 ks 3 marks)

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier
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1 ¥a

Dieseribe fully the single transformation that maps triangle P onto triangle ).

{Total for Question 10 is I marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

28.
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Deescribe fully the single transformation that maps shape P onto shape Q).

(Total for Question 6 is 3 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier
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2 (a)

Reflect shape P in the ling y=x



(b)

LA S

=

{Total for Question 2 is 4 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
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Describe fully the single transformation that maps iriangle A onto triangle B.

{Total for Question 9 is 3 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
31.
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() Enlarge triangle B by scale factor 3, centre (1, 2).
(3)
(Total for Question 8 ks 5 marks)

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier
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Triangle
A and iri
triangle B are drawn
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grid.

{a) Descri
ibe full
y the si
gingle transformati
om which
maps tri
triangle
A onto
irian
gle B.




-+ -2 -z - U l 2 3 4 5 L T 8 x

-2
-3

-4

=5

(k) Reflect riangle A i the ling x =4

2y

{Total 5§ marks)

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier
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Tranglz P is drawn on a coordinate grid.

The iriangle P iz reflected in the line x = —1 and then refleciad in the lne v = | o gve
triangle ).

Describe fully the single transformation which nsaps mangle P onto trangle ).

i Total 3 marks)

Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier
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-0 -8 -6 -4 2 O 2 4 ] g 10

—f

-3

-0
{a) Translate shape A by ['2]

Label the new shape B.
()

=y

-0 -8 -6 -4 I @0 2 4 i g 10

10

(b} Reflect shape C in the line v = x.
Label the new shape D,
(2

(Total 4 marks)




Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier
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{a) Omthe grid above, reflect shape A in the lise x=—]

JI 3

2)

I 5 .

=3

e —
=
]

(b} Describe fully the single transformation that will map shape P onto shape (.

(1)
{Total 4 marks)




Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

36.
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On the grid, enlarge the shape with a scale factor uf%, centre F.
(Total 3 marks)

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

37.
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Rotate the shape 907 clockwise, centre .

(Total 2 marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

38.



1x

1
=
1
[
]
Pt
1
o
(3]
Lin
s
L
o~
s
=T

=4

Trisngls A and miangle B are dravn on the grd

{2} Dwescribe fully the single mansformation which maps riangle A onto miangle B.

()
(b) Tramslare mianzle 4 by the vectur[;].
Lahbel the ner mangls C.
(1)
(Total 4 marks)

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier
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(a) Reflect Ihe shaded shape in the line y = x
2
V4
. | ;
o X
by On the grid, enlarge the shaded shape by a scale factor of 3, cenlre O
t]
(Total 5 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier
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Tnangle T has been dravwn on the grid.

Rotate triangle T 180 about the point (1, 0).
Label the new triangle A

(Total I marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier
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{Total 3 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier
42,



Triangle P has bean dravm on a grid.
(a) Om the grid draw an enlargement of the wiangle P with scale factor 3
]
¥y
1 — 1 :
2 2]
- A £ 4 0 i 3 4 x
=1
| - ]
S 1 I
|
Triangle € has been dravn on a grid
(b} Om the grid, romte mangle ) 90° clockrise, centre O,
(3
(Total 5 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier
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Describe fully the smgle transformation that maps triangle A onto triangle B.

(Total 3 marks)

OCR GSCE - Tuesday 3 November 2020 - Paper 4 (Calculator) Higher Tier
44.



12 Triangle T is drawn on a coordinate grid.

—a
oo -
-

-

(a) Translate triangle T by vector |gl 2]
(b) Describe fully the single transformation that is aquivalant to:

+  arafiection in the line y = x, followed by

+  areflection in the x-axis.

You may use the grid above to halp you.

- m@



OCR GSCE - Thursday 7 November 2019 — Paper 5 (Non-Calculator) Higher Tier
45,

15 “ou may use this coordinate grid to help you answer the following guestions.

Describe fully the single transformation that is equivalent to
|
2

{a) a translation of l followed by a translation of {_gl



OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier
46.

17 Adtrangle has verfices A, B and C.

T T T T =X

14

e
@
=3
=
[x]

2

The triangle is enlarged with scale factor f and centre of enlargament E.

Veriex A maps to (6, 7).
Veriex B maps bo (2, 5).

(a) Find the coordinates of the centre of enlargement, E.

1] | R AR gt | ||



(b) Find the scale factor, f.

) e [2]

(c}) Vertex C maps to the point R.
Find the coordinates of R.

1= | D | -



OCR GSCE - Tuesday 21 May 2019 - Paper 4 (Calculator) Higher Tier
47.

8 Trangle A and triangle B are drawn on the coordinate grid.

"

{b) Describe fully the single transformation that is equivalent to:

=  areflection in the line x = 3, followed by

*  atranslation by lg)

¥ou may use the gnd above to help you.



OCR GSCE - Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier
48.

10 Triangle A and triangle B are drawn on the coordinate grid.

{a) (i) Draw the image of triangle A after a rotation of 180° about (0, 0).

?)

(b) Describe fully the single transformation that maps triangle A onto triangle B.

(ii) Draw the image of triangle A after a translation by the vector

[2]

[2]



OCR GSCE - Thursday 24 May 2018 — Paper 4 (Calculator) Higher Tier
49.

6 Triangles A and B are drawn on a coordinate grid.

YA

5

xY

(a) Describe fully the single transformation that maps triangle A onto triangle B.

(b) Triangle A can also be mapped onto trangle B using a combination of two transformations:

* atransformation T, followed by
« areflaction in the line x = 0.

Describe fully transformation T.

- [4]



OCR GSCE - Thursday 24 May 2018 — Paper 4 (Calculator) Higher Tier
50.

15 (a) Write x — 8x + 25 in the form (x — a)° + b.

[ N [3]

(b) Write down the coordinates of the turning point of the graph of y = x% — Bx + 25.

(B) (oo s e )[2]

(€) Hence describe the single transformation which maps the graph of y = xZ onto the graph of
y=x>—8x+25



OCR GSCE - Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier

51.

5 Here is a coordinate grid.

1

{a) Draw the image of triangla A after a reflection in the line y = ~1. 21

(b) Describe fully the single transformation that maps triangle A onto triangle B.

(e} Complete this statement.

- [3

A ratation of 180° around (0, 0) has the same effect as an enlargement by

scale factor .................... with centre of enlargement [.........., ..o ). 2]



OCR GSCE - Thursday 25 May 2017 — Paper 4 (Calculator) Higher Tier

52.

11 Triangle T is drawn on a coordinate grid.

(a) Translate triangle T using the vector r?]
(b) Describe fully the single transformation that represents the following.

{i) Arotation with centre {0, 0) of 180° followed by
a rotation with cantre (0, 0) of 90° clockwize.

(ii) Areflaction in the x-axis followed by a reflection in the y-axis.

[2]

I3



OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier

53.

9 (a) Trangle A is drawn on the grid.

Enlarge triangle A with scale factor % and centre of enlargement (-1, 5).

3



{b) PFrism P and prism C are similar.
The ratio of the surface area of prism P to the surface area of prism Qis 1:3.

(i) Jaysays
The height of prism P is one third of the height of prism Q).
Explain why he is wrong.

{ii) The volume of prism O is 86 cm?.

Calculate the volume of prism F.

[0 D cm® [3]

OCR GSCE — Sample Papers — Paper 4 (Calculator) Higher Tier

54.



12 (a) Without using a calculator, show that 20 = 2,/5.

(b) The point A is shown on the unit grid below.

The point B is 215 units from A and lies on the intersection of two grid lines.

Mark one possible position for B.

[2]

B3]



AQA GSCE - Tuesday 19 May 2020 — Paper 1 (Non - Calculator) Higher Tier

55.
29 Thegraphof y=x*+6 istranslated 4 units to the right.
The translated graph has equation v =fix)
Work out f{x).
Give your answer in the form  +°+ ax?+ bx+ ¢ where a, b and ¢ are integers.

[4 marks]




AQA GSCE - Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier
56.

24 Quadrilateral ABCD iz shown.

5_
il A D
3_
2] B
"I_
C

=

T
5 4 -3 2 40 4 2 3 4 5
~14

a2

24 (a) Work out the coordinates of C when ABCD is
rotated 80° clockwise about (3
then

translated by | G |
2 rl

[2 marks]

Answer | y )




24 (b) Trangle PQR is shown.

8-.
5-.
P 1
3_
Q R 27

T

§ &5 4 & 3 4 O

=Y

When PQR is reflected in a line, P and R are invariant points.

Circle the equation of the line.
[1 mark]

y=x+6 y=—x y=2 x=-4



AQA GSCE — Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
57.

; 1
5 On the grid, draw an enlargement of the triangle with scale factor 3

[2 marks]




AQA GSCE — Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
58.

25 ABCD is a square.
Ais (-2, 1) Bis(0,-1) Cis(2,1) Dis (0, 3)

Ma

25 (a) A single transformation of ABCD is such that
B is mapped to D
D is mapped to B

A and C are invariant points.

Describe fully the transformation.
[2 marks]




25 (b) A different single transformation of ABCD is such that
B is mapped to D
D is mapped to B

the only invariant point is (0, 1)

Describe fully the transformation.

[3 marks]
AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
59.
. 0
1 A shape is translated by the vector 4
In which direction does the shape move?
Circle your answer.
[1 mark]
up down left right
AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier
60.
-2
2 The vector 3 translates A to B.
Circle the vector that translates B to A.
[1 mark]



AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

61.
21 Enlarge triangle ABC by scale factor —2, centre (4, 1)
[2 marks]
V A
-
54
44
3_
2_
| | yi
4 3 2 10 iﬁaaééiﬂé x

a - —




AQA GSCE — Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

62.
6 A and B are similar shapes.
B is an enlargement of A with scale factor 1.5
Not drawn
accurately
A B
x
Scm
Scm h
Work out the values of x, i and w.
[3 marks]
x= degrees
h= cm




AQA GSCE - Thursday 6 November 2017 — Paper 2 (Calculator) Higher Tier
63.

7 Describe fully the single transformation that maps triangle A to triangle B.
y L
B |
? |
6
5 A .
4
3 !
B
2
14 '
0 >
o 1+ 2 3 4 5 6 7 & 8 10 x

[3 marks]




AQA GSCE — Wednesday 25 May 2017 — Paper 1 (Non - Calculator) Higher Tier

64.

21 (a) The diagram shows rectangles A and B.

44
3 !
A B
2.
1_
T T T T T >
-4 -3 -2 -4 0 1 2 3 X

-1

-7

—4]

Rectangle A can be mapped to rectangle B by a single transformation.

Javed says,

“The only single transformation is a reflection in the y-axis because the
rectangles are on opposite sides of the y-axis.”

Is he comect?
Tick a box.

Yes

Give a reason for your answer.

Mo

[1 mark]




21 (b)  This diagram shows triangles CDE and PGR.

c o
1 2\3f4 |=
_2- =
-3
—4

CDE is mapped to PQR by combining two single transformations.
The first i= a rotation of 80° anticlockwise about E.

Deszcribe fully the second transformation.
[3 marks]




AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier
65.

26 (a) A sketch of a quadrilateral ABCD is shown.

(A Y C{E. 4]
D1, 3)
Mot drawn
accurately
Az 1) B (5 1)
0 X
ABCD is enlarged, centre B, scale factor %
Circle the vertex that is invariant.
[1 mark]
A B c D
26 (b) A sketch of a quadrilateral PQRS is shown.
4 osm4
Mot drawn
accurately
E4,2)
P11 Q4. 1)
i ?
PQRS is reflected in the line  y=x
Circle the vertex that is invariant.
[1 mark]



AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier

66.

23

23 (a)

23 (b)

23 (c)

Square OABC i= drawn on a centimetre grid.
Qis (0, 0) Ais (2, 0) Bis(2,2) Cis (0, 2)

o

o

L

o
=Y

P

3
OABC is translated by the vector 1J

Circle the number of invariant points on the perimeter of the square.

0ABC is enlarged, scale factor 2, centre (0, 0)

Circle the number of invariant points on the perimeter of the square.

OABC is reflected in the line v = x

Circle the number of invariant points on the perimeter of the square.

[1 mark]

[1 mark]

[1 mark]



